ERHIOEE KFTRI=7Yyvh—)—5 HIEER

A B B B F — L Z ¥ = 35
18:00 KXFFC 0 x 3 M-CLUB hE—Y-2=7

4ag78 | 1900 S—H-2=7 3 x 0 RFME+#EFC KES=FFC (iéyiA)
20:00 TIRYHIR 1 x 1 KEV=ZFFC BRFFmE+#FC
18:00 W=BIEHFCYZF 2 x 2 FCIHYH T =FFC

4F148 19:00 ML =—FFC 2 x 0 KFFC M-CLUB (i'ffé‘)
20:00 M-CLUB 1 x 3 HS—H-L=7 KFFC
18:00 BAFME+#FC 3 X 2 wILRYHIR U =bEHFCYZT

sA218 | 1900 KEU=7FC_0 x 1_ortmarcyzr | Fous | )
20:00 FCIHY® 0 x 1 ZERMI=—FFC KFL=FPFC
18:00 KFFC 0 x 0 HIS—H-2=7 V=B FCYZT

4R 28H 19:00 EILRYIR 1 x 2 VI=bIEHFCYZ7 RTME+#¥FC (‘i'ffé‘)
20:00 M-CLUB 6 x 1 RBRFrE+¥FC ZILRYIR
18:00 FClHY% 0 x 3 M-CLUB M =7FC

5858 | 1900 EMy=7FC 0 x 1_ns—¥-v=7 | kFEv=7rc | 3%
20:00 KBELY=—7FC 0 x 0 JXKFFC HhI—Y-2=7
18:00 KFFC 1 x 1 RFE+#FC M-CLUB

58198 | 19:00 M-CLUB 6 X 0 +tILRyHR HhEI—H-> =7 (i'ffé‘)
20:00 H3—H-=7 1 x1 KEY=FFC HILRYHY R
18:00 KEL=PFC 2 x 1 &MY =7FC Rro+#FC

5A268 | 19:00 RIFMHEFC 1 X 1 OKRBEAFCYTT | wh~vyz | 30
20:00 ZILRYIRX 0 x 0 FCIHYH VD =biEhFCY=T
18:00 M-CLUB X ZM=7FC HhI—H.2=7

6A 28 19:00 HE—H-2=7 X FCIHU®H KFFC (i'ffé‘)
20:00 KFFC X U I=bhFCYZT FCIHU®H
18:00 Rro+#FC X KRFY=FFC FCIHU®H

6A98 | 1900 KFFC  x  FCHY® gMe=7rc | 305
20:00 TILRYYR X ML =7FC KFFC
18:00 KFL=FFC X FCIHY&% EILRYIR

6A23H 19:00 KFFC X TILRYIR U F=biEhFCY=7 (‘i’rfé‘)
20:00 HE—Y-2=7 X U=l hFCY=7 JKFFC
18:00 U f=biEhFCY=7 X M =7FC KFY=7FC

6A308 | 19:00 M-CLUB X KFEY=FFC FCITU& (i’rfé‘)
20:00 RFFE+#FC x FCIHY® M-CLUB
18:00 HE—YH-2=7 X EILRYHR RFro+#FC

7A78 19:00 RFr+#FC X ZM=7FC M-CLUB (i'rfé‘)
20:00 M-CLUB x U =Bl hFCY=7 M =7FC




